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10.

Geography Model Test Questions 11 in English With Answers

Sardar Sarovar Project is associated with this river

(A) Ganga (B) Yamuna (C) Narmada (D) Krishna
Konkan Railway Project links these two major cities

(A) Mumbai and Mangalore (B) Mumbai and Bangalore

(C) Mumbai and Chennai (D) Mumbai and Delhi

Nepanagar is noted for this Industry

(A) Paper Industry (B) Cement Industry

(C) Sugar Industry (D) Chemical Industry

The other name for the black cotton soil of India is

(A) Terai (B) Bangar (C) Khadar (D) Regur
Ankleshwar Oil Field is located in this state

(A) Maharashtra (B) Gujarat (C) Rajasthan (D) Madhya Pradesh
Which one of the following rivers flow in the rift valley?

(A) Godavari (B) Tapti (C) Krishna (D) Kaveri
The largest producer of groundnut is

(A) India (B) Sudan (C) Brazil (D) China
India’s largest mineral resources is

(A) Coal (B) Uranium (C) Gold (D) Copper
Which of the following breeds of sheep from Rajasthan produces the finest wool?
(A) Magra (B) Nali (C) Marwari (D) Chokla

Which one is correctly matched pair?

(A) Tapti - Surat

(B) Tamirabarani - Madurai
(C) Yamuna - Kanpur

(D) Narmada - Vijayawada
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11.  Which one of the following pairs is correctly matched?

(A) Bihar -Jaipur
(B) Orissa -Bhopal
(C) Meghalaya -Shillong
(D) Rajasthan -Patna

12. The major source of generation of power in India is
(A) Hydroelectric projects (B) Thermal plants
(C) Nuclear Installations (D) Windmills
13.  What is the capital of China?
(A) Islamabad (B) Kathmandu (C) Beijing (D) Dhaka
14.  Which district has very low population in Tamil Nadu according to 2001 Census?
(A) Ariyalur (B) Perambalur (C) Nilgris (D) Tiruchirapalli

15.  According to 2001 census which of the states of India has shown a marked decline in the growth
rate of population?

(A) Kerala (B) Tamil Nadu (C) Madhya Pradesh (D) Triupura
16.  The main export item of Denmark is

(A) Wheat (B) Meat (C) Woolen Products (D) Milk products
17.  The main Gold producing country of the world is

(A) China (B) Zambia (C) Bolivia (D) Republic of South
18.  The Nava Seva Port is situated in

(A) Kerala (B) Karnataka (C) Andhra Pradesh (D) Maharashtra
19.  Which is the Land of Thousand Lakes?

(A) Norway (B) Finland (C) France (D) Italy
20. Neyveli is noted for deposits of

(A) Gold (B) Diamond (C) Lignite (D) Iron
21.  The population of Tamil Nadu ranks at in India
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22.

23.

24,

25.

26.

27.

28.

29.

30.

31.

32.

(A) 4" (B) 5" (C) 6" (D) 7"

India’s Population is of the world population

(A) 13% (B) 15% (C) 16% (D) 17%
Total cultivated area in Tamil Nadu is million hectares

(A) 5.5 (B) 5.8 (C) 6.2 (D) 6.6

Hyundai Motors is located at

(A) Gummidipoondi (B) Sriperambudur

(C) Vandalur (D) Thiruvallur

Which is the biggest district in Tamil Nadu in area?

(A) Thiruvannamalai (B) Vellore (C) Villupuram (D) Erode

Name of the Port in Tamil Nadu which is to be developed into a major one with the collaboration
of Malaysia is

(A) Nagapattinam (B) Colachel (C) Cuddalore (D) Rameswwaram
Which is the highest literary state in India?

(A) Tamil Nadu (B) Karnataka (C) Kerala (D) Delhi
Which is the largest item of export from India?

(A) Gems and Jewellary (B) Textile and Cloth

(C) Engineering goods (D) Agriculture and Allied goods

Which one of the following is a Union Territory?

(A) Goa (B) Manipur (C) Daman and Diu (D) Nagaland
South Africa is the largest produces of

(A) Silver (B) Teak wood (C) Gold (D) Bronze

Riyal is the currency of

(A) Romania (B) Saudi Arabia  (C) Japan (D) Libya

Sports goods are mainly manufactured in

(A) Mumbai (B) Lucknow (C) Jalandhar (D) Moradabad
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33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

Which type of Industry is mostly found in Bangladesh?

(A) Fishing (B) Tea (C) Jute (D) None of these
Which country is the largest producer of tobacco?

(A) China (B) India (C) Brazil (D) USA

Which one of the following is correctly matched?

(A) Petroleum - Uttar Pradesh
(B) Mica - Bihar
(C) Coal - Kerala
(D) Bauxite - Punjab

The smallest state in India in terms of area is

(A) Sikkim (B) Tripura (C) Goa (D) Meghalaya
Which district in Tamil Nadu, produces cotton in a large manner?

(A) Tirunelveli (B) Tuticorin (C) Periyar (D) Perambalur
Name the major crop of Tirunelveli district

(A) Paddy (B) Wheat (C) Cotton (D) None of these
What is the total population of India on March 1, 2001 according to new census?
(A) 1.00 billion (B) 1.02 billion (C) 1.50 billion (D) None of these
Which of the following countries is located in the eastern boundary of India?
(A) Pakistan (B) Myanmar (C) Nepal (D) China

Which post is not located along the western coast of India?

(A) Cochin (B) Paradip (C) Kandla (D) Mumbai

The largest produces of Mutton in the world are

(A) Argentina and Australia (B) Australia and New Zealand

(C) Argentina and New Zealand (D) Australia and Brazil

Which river flows between Satpura and Vindhya Ranges?

(A) Godavari (B) Narmada (C) Tapti (D) Krishna
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44, Match list-1 with list-11 correctly and select your answer using the codes given below:
List-I List-11

(a) South Eastern Railway Zone 1) Kolkata
(b) South Central Railway Zone 2) Bangalore
(c) South Western Railway Zone  3) Chennai

(d) Southern Railway Zone 4) Secunderabad
Codes:
a b C d
(A 4 3 2 1
(B) 3 2 1 4
Cc 1 4 2 3
(D) 2 1 4 3

45.  The total length of the Himalayas is about
(A) 2,400 km (B) 1,000 km (C) 5,000 km (D) 6,000 km
46.  Which one of the following rivers originates outside the borders of India?
(A) Ravi (B) Beas (C) Jhelum (D) Brahmaputra
47.  The maximum daily range of temperature is found in
(A) Mumbai (B) Chennai (C) Cochin (D) Delhi
48. ‘Bangkok’ is the capital of which of the following countries?
(A) Iran (B) Thailand (C) Brazil (D) Myanmar
49.  Tributaries of Cauvery rivers are
(A) Palaru and Pennaru (B) Kothaiyaru and Bhavani
(C) Bhavani and Amaravathi (D) None of these
50.  The recently formed new district in Tamil Nadu is
(A) Karur (B) Perambalur (C) Ariyalur (D) None of these
51. Find out the sequences of the Ports, located from North to South along the eastern coast of India
(A) Kolkata, Paradip, Vishakhapatnam, Chennai

(B) Paradip, Kolkata, Vishakhapatnam, Chennai
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(C) Paradip, Vishakhapatnam, Kolkata, Chennai

(D) Kolkata, Vishakhapatnam, Paradip, Chennai

Pacific and Atlantic oceans are connected by this canal

(A) Suez canal (B) Kiel canal (C) Panama canal (D) None of these
The most urbanized state of India according to 1991 census is

(A) Maharashtra  (B) Tamil Nadu (C) Mizoram (D) Kerala
Which is the cement city of Tamil Nadu

(A) Ariyalur (B) Chidambaram  (C) Cuddalore (D) Neyveli
Which is called as “Garden of Plants” in Tamil Nadu

(A) Ooty (B) Kodaikanal (C) Dindigul (D) Thekkadi
Which is the highest falls in Tamil Nadu?

(A) Kollimalai Falls (B) Suruli Falls

(C) Kuttralam Falls (D) Kodaikanal Falls

Project Elephants aim at

(A) Saving the dwinding elephant population

(B) Reducing the problems of elephant

(C) Both (A) and (B)

(D) Neither (A) nor (B)

In Tamil Nadu, cordite factory is situated in

(A) Coimbatore (B) Aravangadu (C) Nanguneri (D) Udagamandalam
Which of the following is a non-renewable resource?

(A) Kerosene (B) Water (C) Oxygen (D) Air
Find the correctly matched pair:

River Waterfalls

(A) Tambraparani - Hogenekal

(B) Sharavati - Gersoppa
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(C) Narmada - Banatirtham

(D) Kaveri - Kapil

Which of the following ports has the most southernly location?
(A) Chennai (B) Tuticorin (C) Paradip

Which state has the largest population?

(A) Bihar (B) West Bengal (C) Uttar Pradesh
How many states are there in the union of India?

(A) 18 (B) 21 (C) 22 (D) 28
Kundremukh is situated in which state?

(A) Gujarat (B) Karnataka (C) Maharashtra

Which of the following pairs is wrongly matched?

(A) Koyna Project - Maharashtra
(B) Sharavati Project - Karnataka
(C) Kundah Project - Tamil Nadu
(D) Sabargiri Project - Gujarat

Find the correctly matched pair:

River Waterfalls
(A) Narmada - Amarkantak Plateau
(B) Krishna - Chhota Nagpur Plateau
(C) Periyar - Mahabaleswar
(D) Damodar - Devarmalai

The longest dam in India is

(A) Bhakra Dam (B) Nagarjuna Sagar Dam
(C) Hirakud Dam (D) Kosi Dam

Godwin Austin lies in

(A) Middle Himalayas (B) Greater Himalayas
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(D) Vishakhapatnam

(D) Punjab

(D) Tamil Nadu
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(C) Karakoram Range (D) Satpura Range

Indian Standard Time is fixed on the longitude of

(A) 73°-30° W (B) 62°- 30" E (C)82°-30’E (D) 82°-30° W

In, India anticyclones are setup during

(A) Winter season  (B) Summer season (C) Spring (D) Autumn
All of the places get heavy annual rainfall over 200cm except,

(A) Bangalore (B) Mumbai (C) Shillong (D) Thiruvananthapuram
The density of cattle population per 100 hectares of gross cropped area is the highest in
(A) Uttar Pradesh (B) Bihar (C) Madhya Pradesh (D) Haryana
Narimanam oil field is located in

(A) Godavari delta (B) Krishna delta

(C) Kaveri delta (D) Tamirabarani delta

Where is the Indira Gandhi International airport located?

(A) Delhi (B) Allahabad (C) Ahmedabad (D) Mumbai

Which of the following is known as the play ground of Europe?

(A) ltaly (B) Germany (C) France (D) Switzerland

The longest river in the world is

(A) Nile (B) Amazon (C) Mississippi (D) Volga

Which of the following is not a rabi crop?

(A) Barley  (B) Gram (C) Jowar (D) Wheat

Which of the following is not a Seaport of India?

(A) Kandla (B) Paradip (C) Marmagao (D) Dum Dum
Siyachin Glacies is in

(A) Tibet (B) China (C) Pakistan (D) Kashmir
Which of the following is not a Union Territory of India?

(A) Pondicherry (B) Arunachal Pradesh (C) Chandisgarh (D) Delhi
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81.  Match list-1 with list-11 correctly and select your answer using the codes given below:

List-1 List-11

(Valley) (Location)
(a) Doon 1) Jammu and Kashmir
(b) Kulu 2) Nepal
(c) Kathmandu 3) Himachal Pradesh
(d) Kotli 4) Uttar Pradesh
Codes:

a b C d
(A) 4 3 2 1
(B) 3 2 1 4
() 2 1 4 3
(D) 3 4 1 2

82.  Find the correctly matched pair:

River Waterfalls
(A) Tamirabarani - Bhopal
(B) Gomati - Tirunelveli
(C) Kaveri - Mysore
(D) Betwa - Lucknow

83.  The Eastren slopes of the Western Ghats have low rainfall because of
(A) Lack of winter depression (B) Their leeward location
(C) Height of the ghats (D) The straight west coast
84.  Where do we find mangrove forests in Tamil Nadu?
(A) Along the coastal strip of Ramanathapuram
(B) Along the coastal strip of Tuticorin to Tiruchendur
(C) Along the coastal strip of Pichavaram to Muthupettai
(D) Along the coastal strip of Kanniyakumari

85.  The youngest mountain system of India is
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(A) Himalayas (B) Western Ghats (C) Aravallis (D) Satpura

86.  Match list-1 with list-11 correctly and select your answer using the codes given below:

List-I List-11
(a) Hoogly 1) Calcutta
(b) Yamuna 2) Nasik
(c) Ganga 3) Delhi
(d) Godavari 4) Kanpur
Codes:

a b C d
(A 1 3 4 2
B) 1 4 3 2
< 4 1 2 3
(D) 3 2 1 4

87.  Which state has very little alluvial soil area?

(A) Tamil Nadu (B) Haryana (C) Madhya Pradesh (D) West Bengal
88.  Sugarcane Research Institute is located at

(A) Madurai (B) Coimbatore (C) Aduthurai (D) Cuttack
89.  Consider the following statements:

I. Well irrigation is not possible is hilly area

I1. Wells derive water from underground sources

I11. Tubewells are dominant in UP and Punjab

IV. Tubewells are dominant in Tamil Nadu and Maharashtra

Of these statements:

(A)l and 11 are correct (B) Il and I are correct

(C) All are correct (D) Il 'and IV are correct

90.  The state outstanding in the production of silk in India is
(A) Tamil Nadu (B) Karnataka (C) Kashmir (D) Varanasi
91.  Which of the following iron and steel plats gets coking coal from Jharia?
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(A) Bokaro (B) Durgapur (C) Bhilai (D) All of them
Manchester of India is

(A) Ahmedabad (B) Coimbatore (C) Gwalior (D) Mumbai

Iron ore mines of sundergangh, Mayurbhanj and keojijhar are located in

(A) Bihar (B) Orissa (C) West Bengal (D) Madhya Pradesh

Match the items in list-1 with list-11

List-I List-11
(a) Kalpakkam 1. Thermal power
(b) Calcutta 2. Nuclear power
(c) Koyna 3. Tidal power
(d) Bhavanagar 4. Hydel power
Codes:

a b C d
A 1 3 4 2
B) 2 3 1 4
< 2 4 3
(D) 2 3 4 1

The commodity which accounts for maximum volume of goods transported by the railways in
India is

(A) Iron and steel (B) Coal (C) Mineral oil (D) Metalic Ores
Consider the following statements:

Assertion (A): Tamil Nadu is the eleventh largest state in Inda

Reason (R) : Tamil Nadu is having highest child labour population in India.

(A) Both (A) and (R) are true, and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

Which one of the following is correctly matched?

(A) Navajivan Express — Chennai Ahmedabad

Learning Leads To Ruling Page 11 of 12




Indian Geography Prepared By www.winmeen.com

98.

99.

100.

(B) Coromandal express — Howrah-Mumbai

(C) Geethanjali express — New Delhi - Agra

(D) Taj Express — Howrah-Chennai

Petroleum refinery in Tamil Nadu is located at

(A) Chennai (B) Kalpakkam (C) Manali (D) Neyveli
The most important source of commercial energy in India?

(A) Petroleum (B) Coal (C) Electricity (D) Atomic
Which country occupies the first place in India’s Foreign trade?

(A) USA (B) UK (C) Japan (D) USSR
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